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Q.1)  Draw a neat diagram for architecture of 8086 microprocessor & explain in detail.
Q.2)  Draw software model of microprocessor 8086 & enlist the features.
Q.3)  Explain different addressing modes supported by 8086 with examples of each.

Q.4)  Explain few examples of different instruction formats supported by 8086.

Q.5)  Explain the following instructions with one example of each-
1. MOV DST, SRC                  14. JNBE OPR         
2. LES REG, SRC                   15. JMP OPR
3. PUSH SRC                          16. LOOP OPR
4. POPF                                   17. LOOPNZ OPR
5. IN DST (AL/AX), SRC          18. JCXZ OPR
6. CBW                                     19. CLD
7. NEG OPR                             20. STI
8. MUL SRC                             21. TEST OPR1,OPR2                                                                                                                                                                                                                                                                                                             
9. IDIV SRC                              22. SHL OPR,CNT     
10. DAS                                      23. SAR OPR,CNT   
11. AAA                                      24. ROL OPR,CNT 
12. AAD                                      25. RCR OPR,CNT  
13. JNS OPR

Q.6)  Predict the state of six status flags of 8086 after executing the following instructions. Use              

         specified contents of registers.

1)  MOV AL,AH

2) ADD BL,CL

3) ADD CL,DH
4) OR CX,BX
 AX = A407, BX = 24B3, CX = 0002, DX = FFFA

Q.7)  Given,

         [BX] = 637D, [SI] = 2A9B, Displacement = C237

        Determine the effective address (if applicable) from given information for the following   

        addressing modes-
1) Immediate addr. mode

2) Direct addr. ode

3) Register addr. mode using BX

4) Register indirect addr. mode using BX

5) Register relative addr. mode using BX

6) Based indexed addr. mode

7) Register based indexed addr. mode

Q.8)  Given,

         [IP] = 2BC0         [CS] = 0200         [BX] = 1200         DISP. = 5119         [DS] = 212A

         [224A0] = 0600         [275B9] = 098A 

Find the branch address for branch instructions that use –

1) Intrasegment direct addressing,

2) Intrasegment indirect addressing using BX register & register addr. Mode,

3) Intrasegment indirect addressing using BX register & register relative addr. Mode.

Q.9) Find the physical address if-


1)  CS starts at 70400H, & (IP) = 539CH 


2)  (SS) = 3000H, & (SP) = 8434H


3)  (DS) = 7000H, & EA=14A3H


4)  (DS) = 490BH, & EA= 2359H
Q.10)  Compare 8086 with 8088.

Q.11)  Draw the minimum mode configuration diagram of 8086.

Q.12)  Draw the maximum mode configuration diagram of 8086.
Q.13)  Explain the functions of all pins of 8086.
Q.14)  Draw block diagram & explain the working of each of the following supporting chips-
1. 8284
2. 8282

3. 8286

4. 8288

Q.15)  Explain the use of following assembler directives & operators-

           DQ, END, ENDP, EXTRN, PUBLIC, GLOBAL, OFFSET, EQU, ORG, PTR, LENGTH,   

           LABEL, SEG

Q.16)  Write ALP’s –

1) To find no. of 1’s & 0’s in a 16-bit no.

2) To find average of 4 bytes stored in memory.

Q.17)  Find the physical address for-
1. 1000:1234

2. 0100:ABCD

3. A200:12CF

4. B2C0:FA12

Q.18) Find the unknown value for each of the following physical addresses specified-

1. A000:? = A0123

2. ? :14DA= 235DA

3. D765:? = DABC0

4. ? : CD21 = 32D21
Subject In-charge



















      D.B.Aghor







 




1

